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Maths at Round Hill

Since the Primary Cwrriculum changed, in 2014, the way Maths is taught across the country has
changed. We now follow a mastery approuch to Maths. This works on the hasis that all children
can master Maths. “Mastering maths’ means that children understand the Maths they are doing,
rather than simply leawrning how to do it. All children are given the opportunity to explore
different Maths topics and some will work at a deeper level, developing their understanding of
concepts and how to apply these. This is a very different way of learning maths, however by
teaching children to understand what they are doing, they are much more likely to remember it
and he able to apply what they have leamt to- a range of questions.

Teachers and, practitioners in the Early Years support children in developing their understanding
of Mathematics in a broud range of contexts in which they can explore, enjoy, lean, practise and
talk about their developing understanding. Children in the EYFS learmn by playing and exploring,
outside. We recognise that children learm through routine, continuous provision and incidental
learning opportunities, as well as planned sessions and activities. This includes heing given
opportunities to seek patterns, make connections, recognise relationships, work with numhers;,
shapes and measures, and counting, sorting and matching. Children use their knowledge and
skills in these areas to solve problems, generute new questions and make connections across
In Years 1-6, we use the Maths No Prohlem series to support our teaching. This has heen
developed by experts and teaches concepts using a mastery approach. Children will he shown
different methods for solving problems, using physical apparatus, drawings and more traditional
methods. Each topic will start with children using physical apparatus and/or drawings, and,
Some children may decide to stick with using cuhes or other ohjects to help them answer a
problem. They will he asked to have a go at other methods, but they may choose to go bhack to
using equipment when working on their own. Many children will he able to- use all or most of the
methods they are shown, but will have one preferred method. Some children will choose to use
different methods for different questions. By teaching in this way, all children will have at least
one method for solving a problem.

Some of the methods your child is leaming will be similar to those yow learnt at school. Many
methods may seem very different . This is hecause these methods are a way of helping children
to understand the concept, whether that be addition, subtraction, multiplication or division.
Children will work through these methods as their understanding develops. The aim is for
their own pace.

Here we will show you the main methods your child will he taught for addition, subtraction,
multiplication and division in their cwrent year group. This will hopefully help yow to understand,
what they have heen shown in their lessons. If yow are unsure abhout a particular method, see if
youwr child can explain it to you, or speak to yowr child's class teacher who will he happy to help.
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Reception- Place Value
Recognising numhers and amounts

We use dice patterns, counting frames; tens frames and Numicon to support the children in
recognising numhers in small groups without the need for counting.
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Dice Patterns Numicon Counting Frame

We can use cubes and place these in the hoxes on the tens frame, or we can draw o shape in the
hox.

8
eight

Numhers higger than 10
When we look at numhbers bigger than 10, we use a tens frame then count on.

i de i dR A 22
o dh e de

14 fourteen

We then move on to representing numhers using hase ten, unifix cuhes and Numicon.

We can use W to show 32 In tens and ones.

L

\ ¥ J 32 =3 tens and 2 ones
ol

Base Ten




Comparing numhers
We use cubes; counters, Numicon and other ohjects to help us compare amounts.
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We can also look at pictures and use number lines to help us compare numhers

‘m . »
There are 3 cupcakes. W m
LW il e
There are 5 cookles. Teaas PETN SNy T POy
5 Is more than 3. 11213 |4|5|6|7]|8]|9]10

Children will also compare numhers that are far apart, near to and next to each other. For
example, 8 is a lot higgerthan 2 but 3 is only w little hit higger than 2. The children will use cu-
hes, counters, Numicon and other resowrces to help them with this.

I 7
“9 i&cubibbiggermanT" “10 is a lot higger than 1"



EYFS - Addition

Adding two single digit numhers

We use ohjects, cuhes, tens frumes, Numicon and pictures to help us compose and decompose
different numbers.

Cuhes Tens Frames,

We also use Numicon to explore numher honds.

S

“The 2 and the 3 together is the same as 5"

Part-Whole Models

We can then use part-whole models to show these numher bonds. This helps us to understand,
addition. We hegin with concrete, moveahle objects and move to abstract symhols when the

Put 5 cupcakes on two plates.

part
2

whole g
2and 3
part make 5.

3

This Is a number bond.

The parts can he added to make the whole.

e00000o part
whole ®<

and make 7. part



When the children are ready, we can also complete numher sentences. We can use our

(X} eee eocsee
3 5

2

2 + = whole
part part whole P ﬂrtm

3

2+3=5

Counting on

We can also use counting on to help us pructice counting numhers in a sequence and to- add,
small numhers on. We start with physical ohjects and practical resowrces to help us count on. We
then move on to using a numher track or a numher line.

NN N A
8+3=11

11 | 12 | 15 | 14

L L
11+ 3 =14




EYFS- Subtraction

Physical ohjects

Children are introduced to the concept of subtraction through practical games and activities. We
wse,physmllabject& including counting bears, counters and pegs to demonstrute how

The children will also use physical objects such as Numicon and cubes to explore subtraction as
the ‘difference hetweeny ’W\mrruunbers

Crossing out
We then use pictures and crossing out, so- we can see what is happening when something is tak-
en awwy. -

l At first, there Then, I eat 1 sandwich.

////.K "
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How many sandwiches are left? H
5-1=4

There are 4 sandwiches left.

Number honds

We can also use numher honds to help us subtract. Owr part-whole model helps us see what is

Aidid A4 g

7-5=2 5 2
2 boats are not red.

Numbher lines

We then move onto using numher lines and counting bhack.

3~ =




EYFS- Multiplication

Children are introduced to the concept of multiplication through doubling. They use practical
equal groups together to find out the ‘doubles’ answer. They will also practice this with, Numicon.

Equal groups
We use ohjects and, pictures to- make sure we understand what equal groups are. Then we count
the equal groups.

Repeated Addition
We also use Numicon, cubes and other ohjects to create repeated addition sums.
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EYFS- Division

Division using practical ohjects

Children are introduced to the concept of halving and sharing through practical games and,
sharing food for their Teddy Bear’s Picnic or sharing resowrces equally to play a game. This is
reinforced by opportunities provided in the outdoor area for the children to halve and share out
ohjects such as building blocks, twigs etc.

Sharing and Equal Groups~ Division
We use ohjects including cuhbes and pictures to show how we can share things into groups.

There are B cans.

@ﬁ%@'
‘ﬁ»ﬁ»

There are 4 boxes of 2 cans.
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Year1 - Place Value
Recognising numhers and amounts

We use ten frames to help us picture numhbers. We can use cubes and, place these in the hoxes, or
we can draw a shape in the hox.

ARN 8

i__ eight

When we look at numhbers bigger than 10, we use a ten frame then count on.

e [0 0s e (0e) 0¢ 0¢ G2 e
o dh e de

14 fourteen

For bigger numhers, we will practice counting in 10s, 5s and 2s. We then move on to representing

We can use W to show 32 in tens and ones.

el

NN
e 32 = 3 tens and 2 ones

5] 2

-

tens

This is a place-value chart.



Comparing numhers
We use cubes, counters and other ohjects to help us compare amounts.

I 1 more I

We can also look at pictures and use numbher lines to help us compare numhers.
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There are 3 cupcakes. W W
There are 5 cookles. Seus SEUs NNy i 2P0
51s more than 3. 11213 |4|5|6|7]8]9]|10

Then we use place value charts to look at each part of the numher and compare first the tens,
then the ones.

tens
3 6
3 tens and 6 ones = E. 3 tens Is more than 2 tens.
El is more than E'
tens
2 7

2 tens and 7 ones = E.



Year 1 - Addition

Number honds

We use cuhes and other ohjects; and pictures; to help us see different numhber honds. We can then

Put 5 cupcakes on two plates.

This Is a number bond.

The parts can be added to make the whote.

s ee part
o (D

and make 7. part

We can also complete numher sentences.

+1=7

When we add larger numbers, we can use owr part-whole model to help us by splitting numhers
in different ways.

6
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10 8
12+
12+6=18 @ \@
There are 18 candles altogether: 2+6=8

10+8=18



Numbher lines
We also use numher lines and counting on.

Y
. o Yt 2 o J - <
8 9 10 11
gl9j10|11
NN
8+3=11

Making 10
When we add bigger numhbers, we try to- make 10. We use tens frames with either ohjects or

drawings to help us.
9 + 3

Move 1 tile to make 10.

@@ 00 @@ [[e
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8 + & = 10 + 2



Year 1 - Subtraction

Crossing out
We start by using pictures and crossing out, so- we can see what is happening when something is
taken away.

I At first, there Then, I eat 1 sandwich.

are 5 sandwiches.
“

i dddd X |

How many sandwiches are left? ”
5-1=4
There are 4 sandwiches left,

Number honds

We can also use numher honds to help us subtract. Our part-whole model helps us see what is

Addid A4 g

7-5=2 1 2
2 boats are not red,

When we subtract from larger numhbers, we look to see if there is a 10 in the number.

FERERRLESLY Ty
FEEE Y %)
(O S 6 aer
10 2 10+2=12
16-4=12
Numbher lines




Year 1 - Multiplication and Division

Equal groups~ Multiplication
We use ohjects and, pictures to- make sure we understand what equal groups are. Then we count
the equal groups.

~

There are 4 trays. . Eachtrayhas5 . .
B\ a’f.

btraysof 5 =20 (&8 A ﬁ;

4 groups of 5 =20 “ T

4 fives =20

There are 20 ' altogether.

We will arrange the equal groups in different ways, for example in rows.

Equal groups~ Division
We use ohjects and, pictures to- show how we can split things into equal groups.

There are 8 cans.

-
Wit

There are 4 boxes of 2 cans.

We talk about sharing things equally.
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Year 2 - Place Value

Recognising numhers and amounts

We continue counting in 10s, 5s and 2s, and using hase ten and place value charts as we did, in
Year 1. We will also continue to- use part-whole models to help us break numhers down into
smaller parts.

i —

Comparing numhers
As we did in Year 1, we use place value charts to look at each part of the numhber and compare
first the tens, then the ones.

tens
3 6
3 tens and 8 ones = E. 3 tens Is more than 2 tens.
El is more than [3
tens
2 7

2 tens and 7 ones = E.



Yewr 2 - Addition

We start by using the same methods as we did in Year 1. We might count on in 10s rather than in
ones. We also learn some new methods.

Numher honds
When we use numhber honds, we might add tens rather than ones.

Add the tens.

-

19 +.20}
/NS 10+20=30

(9) {10~ 9+30=39

19+20=39

Place value charts
We use hase ten and place value charts to help us add larger numhbers. We always start by
adding the ones.

Add the ones. Add the tens.
J ones + &4 ones =7 ones 2 tens + 1 ten = 3 tens

25 +14 = 57

Using hase ten helps us see when we need to rename a numhber. Here, we rename 10 ones as a
ten.

Add the ones.
&4 pnes + 7 ones =11 ones

Regroup the ones.
11 ones = 1ten and 1 one




Column method

Using hase ten and place value charts helps us to- understand the column method. Again we start
with the ones.

tens ones tens ones
2 3 2 3
+ 1 4 + 1
7 3 7

When we start renaming using the column method, we add the ones and write the answer
underneath. Then we add the tens and write this underneath. Finally, we add the two answers
together.

tens ones

2 -
7

1

4+
[ B =
o




Yewr 2 - Subtraction

We start by using the same methods as we did in Year 1, using number lines and numher honds.

Place value charts

We will use hase ten to help us see what has bheen subtracted. We might also drow a numher in a
place value chart and cross things out. We always start by subtructing the ones, then the
tens.

When we do not have enough ones to subtract from, we rename 1 ten as 10 ones. We do this with
hase 10 so we can see what happens.

Subtract the ones.

8 ones - 3 ones =5 ones
Regroup 1 ten into 10 ones.

P Subtract the ones.

. W w w _ _

: 13 ones - 5 ones = 8 ones
Subtract the tens. ALl

WDy

’ LR R AL el

u e
28-3=25

Column method

Using hase ten and place value charts helps us to understand the column method. Again we start
with the ones.

tens ones

2 8

= 3
5

tens ones

2 8
= 3
2 5

When renaming using the column method, we aross out the original numhbers and replace them

tens ones
1 13
F 4

- 5




Year 2 - Multiplication

In Year 2, we pructice the 2, 5 and 10 times tahble. We always think of times tables as heing a
wuy to describe equal groups.

3 x 2 is 3 equal groups of 2. We use ohjects and pictures to help us see the equal groups and,
count them. We will also look at knowing that 3x2 is the same as 2x3.

3 groups of 2
Jx2=6
Pattermns

We will also look at pattems like even numhers, and the 10 times table ending in 0. We will also
use patterms to help us use a fact we know to work out ones we dorn't.

Nrnarurarnarn
!Ii il! I I !I! ili
L— 11 1 T 1 [ J:I 1

5x2=10

o2z 6%21s2
- more than 10.




Year 2 - Division

In Year 2 we continue to think about equal groups and sharing, using ohjects and pictures. We
link this to the word divide. We concentrate on dividing by 2, 5 or 10.

Inverse operations
We start to- make more links hetween multiplication and division.

Put 10 buns equally on 5 plates.
How many buns are there on each plate?

Co Co Co T O

10+:2=5

There are 2 buns on each plate. ﬂ
There are 2 buns !
on each plate.

—

There are 5 plates.
2x5=10 "
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Year 3 - Place Value

Recognising numhers and amounts

We continue counting in 10s and 100s and using hase ten and place value charts as we did, in
Year 2. We will also continue to use part-whole models to help us break numhbers down into
smaller parts (partitioning). We now also count in 50s.

How many « are there? 253
| l er e 200 50 3
100, 200, 210, 220, 230, ' , 251, 252,

427 = 4 hundreds + 2 tens + 7 ones
427 =400+ 20+ 7

The digit 4 stands for 4 hundreds or 400.

The digit 2 stands for 2 tens or 20. 427 S E.
The digit 7 stands for 7 ones or 7. / I \ .

We write 427 as four hundred and
twenty-seven. 400 20 7

Comparing numhers
As we did in Year 2, we use place value charts and hase ten to look at each part of the numbher.
We compare the hundreds, then the tens and finally the ones.

We also use this to help us find 10 and 100 more and, less than a number.

Which number Is greater, 316 or 2387

- -
. K1

Shop A

[
e

Shop B

F 5
-
- &




Year 3 - Addition

We continue using numher lines; hase ten and part-whole models to help us add simple
numbers.

Column method

We continue to develop owr understanding of using the column method. We use hase ten to help
us. When renaming, we start by using the same method as we did in Year 2. We add the ones

and write the answer undemeath. Then we add the tens and write this underneath. Then we add
the hundreds, and write this underneath. Finally, we add the two answers together.

h t o
8

+ 2 3 6
1 &

3 0

+ 2 0 0
2 4 4

We then move on to writing this using a more efficient method.

Step 1 Add the ones.
8 ones + € ones = 14 ones

W NN NN
O L h t [+]
NN 8
. ) + 2 3 6
L]
!E . EI.
Step 2 Regroup the ones. ,! I !\
14 ones =1 ten + 4 ones 10 4
h t o Whenan answer makes
. roreeee more than 10 ones, we
- il i % renamethose 10 ones and
- T2 3 % 1 ten. We write this in the
. 4 tens column ahove the
that column.
Step 3 Add the tens.
lten + 3 tens = & tens
tens, we add this renamed,
h t o ten
1 % Wenolonger need to do
g W + 2 z G an Ldition, at the.
L]
“ J 2 4 4 end of the calculation.
We may also need to
B+236 =244 rename 10 tens as 1

There are 244 children altogether. hundred.



Year 3 - Subtraction

We continue using the number lines and numher honds, part-whole models, hase ten and place

Column method

We also continue to- develop our understanding of the column method with renaming. We now
subtract up to 3-digit numhers. We use hase ten to help us understand what is happening in the
calculation. When renaming, we aoss out the original numhers and replace them with our new
representation. We may need to rename more than once in a calculation.

Stepl Regroup 1ten into 10 ones.
Subtract the ones.

11 ones - 6 ones = 5 ones

o
. 8 I
L o= N N N
-"-.r

" -"-
1 o
|
i
|

Step2 Subtract the tens.
2tens - 2 tens = 0 tens

h
® 8
v TSI -

Step3 Subtract the hundreds.

By O e+

o mh,:"n

om?;\.?"-r
-
mmn'—‘{—n

h t o

8 & Ur

W iy _ 2 6
0 5

|!| E




Year 3 - Multiplication

In Year 3, we concentrute on the 3, 4 and 8 times tables. We always think of times tables as
heing a way to describe equal groups.

We use ohjects and, pictures to help us see the equal groups and count them. We will also look at
knowing that 3x2 is the same as 2x3. We continue to look for patterns to help us work out facts
we don't know.

4 groups of 3

.* .." .* .I’
Ly Sy &y &y

2x3=6
Ix3=6+3

Partitioni

We split numher up (partition) and use hase ten to help us multiply 2-digit numhers. We multiply
the ones first, then the tens, and then put our answers together. This helps us to understand the
column method.

12x4=

Multiply 12 by 4.

Step1l  Multiply the ones by 4.

2 ones = 4 =8 ones

Step2  Multiply the tens by 4.

lten=4=4tens

Step3d 2ones=4=8
1ten x4 =40
12x4=8+40=48

‘NN
NN




Column method

In Year 3, we start to use the column method to- multiply 2-digit numhers by 1-digit numhers. We
use hase ten to help us understand the column method.

| | | i t o
| | 2 o
| i 1 | x 4
. 15 15 15

___________ 1 | —

Multiply 2 tens by 4
20x= 4 =80

When using the column method, we start by multiplying the ones. We write this answer
underneath. Then we multiply the tens and write the answer undemeath our first answer. Finally,
we add our answers (the products) together. We may use part-whole models to help us partition

o .

20 3 2

X
|k O

Stepl  Multiply the ones by 2.

Iones =2 =06 ones

t o
Step2  Multiply the tens by 2. i} 2 g
2tens = 2 = 4 tens 6
4 0

Step 3  Add the products.
t o

6+40=46

2 3
x 2
23 x 2 =46 .
b 6

There are 46 children In the 2 classes.

We then move on to- a more efficient method, of writing the products. We might need. to rename
ones when writing the answers. We do this by writing the renamed digit above the correct
column.

Step 1 t o
2 3

x 8

4

Step 2 h t o
2 3

* 8

1 & &




Year 3 - Division

In Year 3 we continue to think ahout equal groups and sharing,

link this to the word, divide. We concentrate on dividing by 3, 4 and 8. When talking

using ohjects and pictures. We
about

dividing, we think ahout putting things into equal groups or into groups of a certain numhber.

Put the birds In groups of 3.

g"yu

/Q /Q
> >

Put 6 birds into 3 equal groups.

6+3=2

¥

There are 2 birds on each stand.

.

¥y
y“t
v o

s

*/

Base ten

We use hase ten and part-whole models to help us divide 2-digit numbers. We divide the tens

then the ones separately, then add the answers.

68 +2= 6tens + 2
=3t i
Stepl Divide 6 tens by 2. VR
| ! @ 1)
| i ! I
L.- - : : 60 8
G tens = 2
Step2 Divide 8 ones by 2. 8 ones =2
- =4 ones —
60 8 H‘%:
Step3  Add the results. "

If we cannot divide the tens exactly, we regroup them with the ones to- make numhbers that are

more easy to divide.
5224 =

Step1  Split 52 into 40 and 12.

40 12

__________

Step2 Divide the tens by 4.

Step 3 Regroup 1 ten Into 10 ones.

| |

I o [ [ LA

Step &  Divide the ones by 4.
Step5  Add the results.
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Year 4 - Place Value

Recognising numhers and amounts

We continue counting in 50s and 100s and, using hase ten, place value charts and part-whole
models to help us partition numhers as we did in Year 3. We now also count in 25s and,
1000s. In Year 4, we also use numher discs or place value counters to help us visualise larger

numhers.

00000 _
00000

hhhhhhhhhh

10 ones = 1 ten
10 10 10 10 10

10 10 10 10 10 @
10 tens = 1 hundred

©0000 .
00000

10 hundreds = 1 thousand

What is the number shown?

3042

@@@ 10 10 10 10 oo three thousand and

—

Comparing numhers

@ 3000 ‘ 3040 3042 .

forty-two

We continue using place value charts and hase ten to look at each part of the numher. We
compare the thousands, then the hundreds, then the tens and finally the ones. We also use place

We also use these to help us find 1000 more and less than a numher.

oo
ociocgiocfiocliod

0000
000003

thousands tens |

2 5 0] Q
thousands tens

5 8 ] Q

2500 Is less than 5800.
2500 < 5800

5 thousands (s greater than 2 thousands and 5 hundreds.



Year 4 - Addition

We continue using hase ten and part-whole models to help us add numhers.
Column method

We continue to develop use the column method for addition, with 4-digit numhers. Again we use
hase ten to help us. We also now use place value counters to help us see what is happening in
the calculation.

Find the sum of 2314 and 4240. |

2 3 1 4%
4 2 4 0
100 0o & | &
100011000 10 10 Step 1 Add the ones.
' ®@ 4 pnes + 0 ones = &4 ones
(1000] 10 10
o Step2  Add thetens.
1 tens + 4 tens = 5 tens
Step3  Add the hundreds.
3 hundreds + 2 hundreds = 5 hundreds
Step &4 Add the thousands.
2 thousands + & thousands = 6 thousands
2314 + 4240 = 6554
# ::‘;.:: 1
- @@ \h::-f""\_._/ 5 6 0 8
171 + 1 2 3 5
el
- @@ 10 10 }:--:EE‘::-_"_E G 8 % 3

Mental methods

To support owr mental arithmetic, we look at how we can add small parts to make a numher up
to the nearest 10 or 100, to- make an addition easier. We also use “tricks” like adding 10 then

suhbtracting 1 to reach the overall aim of adding 9.

98 + 4142 =
make 100 2034 +10 = 2044 -
' 1less
98 + 4142 = 100 + 4140 2034 + 9 =2043 ¢

= 4240



Year 4 - Subtraction

We continue to use hase ten and place value charts to support us when doing subtraction
calculations.
Column method

We also continue to- develop our understanding of the column method with renaming. We now
subtract up to 4-digit numhbers. We use hase ten to help us understand what is happening in the
calculation.

Use base-ten blocks

358 |” ..... L

> 5 8

subtract G e - 1 2 8
1728 | PEE 0 | v L4

2 3 0

The difference between 358 and 128 s 230.

We also use place value counters to help us, either using physical counters or drawing these.
When renaming, we cross out the original numhbers and replace them with our new representa-
tion. We made need, to rename more than once in a calculation.

5280 - 3169 =
There aren't
1000]1000) @@ 10 10 enough ones.
5280 |l 10 10
o 10 10 E ;;_!
10 10

ioooliooa] [100 100 BT ”

1000

10001000 10 10O
(1]1)

00

t Ln
= R
o by
© 85

10 10
10 {10}

b e e o .

|©&| 2 | @X

et ;&;‘Z YO KK s 240
3169 >< )‘(}(XX‘Zi?T




Mental methods

To support owr mental arithmetic, we break numhbers apart to make a subtraction easier. We can
use part-whole models to help us with this. We also look at counting on in small chunks to
find the answer to a subtraction.

| |
/—\ 3987 = 3990 = 4000 = 4021
1801 200 o

2001 - 189 = 1801 + 11 = 1812 3987 4000 4021



Year 4 - Multiplication
In Year 4, we concentrate on the 6,7,9,11 and, 12 times tahles. We always think of times tahbles as
being a way to describe equal groups.

We use ohjects and, pictures to help us see the equal groups and count them. We continue to look
for patterns to- help us work out facts we dorvt know.

bddddlde

1-- #. i-’t., 11T T T 1T T T
= - . . 4 groups of 6
w W % % hr6=24 bbdbdddd 2x7=14

W W W W W W
_______ e 3xT7=14+7

d2é&6&a

6x12 =72 Y W W W W e |
- 60

}a

Multiples of 10 and 100

In Year 4, we focus on multiplying multiples of ten and one hundred. This helps us to- do- more

complicated multiplications. We use place value counters and owr knowledge of place value to
help us. We also use our knowledge that multiplication is repeated addition to help us.

We know that 6 x 2 = 12. 12tens =120 40 = ?i?*w
So 6 x 2tens = 12 tens. 10 10 =7x4tens
6=20=120 = 28 tens
10 10 =280
10 10
10 10 4O=T=4=x10=7
=4 x70
10 10 =70+70+70+70
=280
10 10
T=3=21
7 % 3 hundreds = 21 hundreds
hx2=8 @@ 7x 300 = 2100

4 » 2 hundreds = 8 hundreds

4= 200=800 @ @

@@ 7=300=7=3 =100

o]0 S21x100
= 21 hundreds
= 2100




Column method

In Year 4, we continue to use hase ten and place value counters to help us partition numhbers to
help us multiply, and to help us understand the column method. When using the column method,
we recap using the longer method, building up to- multiplying 3-digit numhbers. We start by
multiplying the ones. We write this answer undemeath. Then we multiply the tens and write the
answer undermeath our first answer. Next, we multiply the hundreds, and write the answer
undermeath. Finally, we add owr answers (the products) together.

3 0 4
S
0

Y
300 4 + 6 0

300 =2 =600

We then again move on to- a more efficient method of writing the products. We might need, to
rename ones when writing the answers. We do this by writing the renamed digit above the
correct column.

473x2 =

OB |0
tocfio0)

QO (»
O |»

@ *“\I Multiply the ones.
OO v @O -~ " 3
@0 [vis | @ ﬁ
100] 100} ":LD 10 :fi@}iiﬂ OO | wupythotens.
D |www O b

l 4

10 10 10 10

mmoo LT3
1010

5
58|88
8
e

2

o o Multiply the hundreds.
o o Add the 1 hundred.
00| .
x 2

g . -

06066

006606

473 =2 =046



Year 4 - Division

In Year 4 we continue to think about equal groups and sharing, using ohjects and pictures. We
link this to the word divide. We concentrate on dividing by 6,7,9,11 and 12. When talking about
dividing, we think about putting things into equal groups or into groups of a certain numher.

Placing into 9 equal groups

00 09 00 YT
00 00 00 (000000000

J6=-9=4

36:9=4

Place value counters

We use place value counters to help us divide larger numhers and part-whole models to help us
partition larger numhers to divide them.

68
GO00_0000 VA
Eh:‘_"_-_:'_.:f e -:_'J__I‘_‘:-:"’.E o o o o 68
8:2=4 //\\

(ﬁﬂ B D
60:2= 30 4
{10:{10310}| 10 10 10
110310710} 10 10 10
| el ______."
Part-whole models

Part-whole models particularly help us when we divide larger numhers where some parts of
the number do not divide exactly. They help us to see how we can split a number in different
ways, and find any remainders.

75

75+6= ED/\15
o /\

(12 33

2 remalnder



Formal method (bus stop)

In Year 4We use a long division method as this helps us to understand what we are doing and
why. It also means we don't need to hold as much information in owr heads.

6 tens = 2

2 )

™4

[

o 0o

We start with the tens. 6 + 2 = 3. We write 3 at the top of
owr calculation, ahove the 6.

2 x 3 = 6. We started with 6 tens. 2 groups of 3 tens is 6
tens. We subtract 6 tens to see if we have anything left over.
We might describe this using ohjects:

I started with 68 sweets and I shared them hetween my 2
friends. So far, I hawve given each friend 30 sweets. How
many sweets have I given away? (60) How many sweets
do I still have left to- share? (8)

We then repeat this process with the ones, until we have
nothing left over.

We also use this method to divide 3-digit numhbers.

a

1 0O
o0

) 4

o O

Using this method helps us when a numhber doesn't divide exactly, and we have a remainder.

.

7
- 6

1 5
- 1 2

1. Divide 7 tens hy 6: 7+ 6 =1, s07 tens + 6 =1 ten. We place a1 in the
tens column, ahove the 7.

2. We had 75 buttons. We have given 6 people, 10 buttons each.

Altogether,

we have given away 60 buttons. We subtract 60 from 75 to

see what is left. We have 15 buttons left.
3. Divide 1 ten by 6: we cannot do this.
4. Divide 15 ones by 6: 15 + 6 = 2. We place 2 in the ones column, ahove

the 5.

5. We had 15 buttons. We have given 6 people, 2 buttons each. Altogether,
we have given away 12 buttons. We subtract 12 from 15 to see what is
left. We have 3 buttons remaining. This cannot be divided by 6, so is our

remainder.
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Year 5 - Place Value

Recognising numhers and amounts

We continue using hase ten, place value charts, place value counters and part-whole models to
help us partition numhers. We also use arrow cards to look at the different parts of a numher and
what each digit represents. We now look at numhbers up to 1,000,000.

S0 O v OO
o 1{1)

o

Comparing numhers

We use har models to help us compare numhers and decide what calculation to do to- work out
the difference hetween two numhbers. We then use our place value knowledge rather than a formal

The digit 5 Is in the ten thousands place.

It stands for 50 thousands or S0 000.

The digit 9 is In the thousands place.
It stands for 9 thousands or 9000.

The digit 7 Is In the hundreds place.
It stands for 7 hundreds or 700,

The digit = Is in the place.
It stands for or

59725 =50 000 + 9000 + 700 + +5

method. We also look at patterns in the place value of different numhers.

335000
I ’ \

bators [

355 000

?
Y ’ 3
L
£50 000
! N J

£465 000

235000

,
this city [N 200 000

another city _
-

135000



Year 5 - Addition

Counting on
We use our place value knowledge to help us count on in multiples of 10,000 and 100,000. We
sometimes use place value counters to help us with this. We might also use a numher line.

o 10 329 + 50 000 =

10 329 20 329 30 329

P00 SO»00 SO»00
»00 SP~»00 SO0
©® 606 © 00 € 00

00 00 00
(1 o (L

Column method

We continue to develop use the column method for addition, with 5-digit numhers. We use place
volue counters to help us see what is happening in the calculation.

S S0000D
S 100000 CO

— 1
Yo 16 000
@ @@@f‘-w-“-w-’k_f} + 17 000

SeEC00008 s oo

Place value
We also use our place value knowledge to help make some addition calculations easier. When
adding two larger numbers, which are multiples of 10, we can add as though these are smaller

225 000 2 2 5 thousands
+ 30 000 + 30 thousands
255 000

255 thousands




Year 5 - Subtraction

Counting hack
When we need tor subtract a multiple of 10, we can count back. We may count back in larger
“jumps’ of 100,000. We can use place value counters to help us.

The number Is 546 203.
Count back by 100 000s.

SOC00 SO0 SSODO
STO0O0 STCOO0 STT0O
eSO 0 SO 0 X8O O
eSS XSO SO
X © x © X ©
< < &

446 203 346 203 246 203

Place value

When subtracting multiples of 10, we can also imagine that the numhbers are smaller to- make the
suhbtraction easier. We must then remember the value of each digit at the end.

600-550=50

A

600 thousands - 550 thousands

600 000 - 550 000 =

Partitioning with the column method

When we start subtracting with larger numhbers, we break the numhbers down into smaller parts
(paurtition) to make it easier. We use place value counters and part-whole models to help us. We
look to see how we can easily split the numhers into 2 parts and subtract each part separately,
then combine the answers. We must make sure our totals stay the same.

@ @@ oe oo 59027 5 8 thousands
@ @@ oo / \ - 2 3 thousands
@@ oo 58000 1o 3 5 thousands
So (1
= ol

B g

S0 CC[C »» 00 SEEL

eC &% 00

% 00
@@ o 59027 - 23 359 =35 668




Column method

We continue to use place value counters to help us understand the column method for subtraction
with larger numbers, particularly when renaming. When we rename a number, we write it ahove
the original digit, and, cross out the original.

o
o

9 1011
1 w3
o X2F

810

B
90 000 9
- 54 000 - B7 654

@@r@@1 356 000 2 469




Year 5 - Multiplication

Multiples of 10, 100 and 1000

In Year 5, we continue to focus on multiplying multiples of ten, one hundred and now one
thousand. This helps us to do- more complicated multiplications. We use place value counters and

owr knowledge of place value to help us. We also use our knowledge that multiplication is repeat-
ed addition to help us.

12=10 12 =100 12 x 1000

10 10 (100]100] 10001000
10 10 (100100} 10001000
10 10 (100100} 100011000
10 10 @@ 10001000
10 10 (100]100] 10001000
10 10 100]100) 1000000

12x10= 12=1ten |12 *100 = 12 1 hundred | 12 *x 1000 = 12 x 1 thousand
= 12 tens = 12 hundreds = 12 thousands

120 1200 12 000

Column method

In Year 5, we use place value counters when recapping using the column method for
multiplication. We start by revising the longer method to help us understand the more efficient
column method. We now use this method to multiply 4-digit numhers.

00000000

118
" 3
3= 8= 24 2 4 = multiply by ones
3= 10= 30 3 0 = multiply by tens
3 =100 = 300 + 3 0 0= multiply by hundreds
3=118= 354 354

We then move on to- a more efficient method, of writing the products. We might need, to- rename

numhers when writing the answers. We do this by writing the renamed digit above the correct
column.

d
2 r. i -\..l
x 4

10872




Then we move on to multiplying 2-digit numhbers by other 2-digit numhers. We continue to- use
place value counters to help us, as well as our knowledge of multiplying by multiples of 10.
We partition numbers to help us see the calculation in steps. We can partition the numbers in
different ways to make the calculation easier.

1o %10 = 140 10 x 26 = 260

14 = 20 = 280 10 x 26 = 260
4= 2= 28 14x 2= 28 8 x 26 = 208
14 =12 =168 14 = 22 = 308 28x26=728

We again move on to writing this in a more efficient way. We always start by multiplying the

1 ; 1

i 4 1 n
X260 ——mp %26 —p *x206 —a x26 —> x 26
g 168 1 6 B 1 6 B 1 68 =—328x6
6 56 +56 —3»28x20
728

We use this same method to- multiply a 3-digit numher by a 2-digit numbher.

245
® 13

7 3 5 =3 multiply by 3
+ 24 50— multiply by 10

3185



Yewr 5 - Division

Multiples of 10, 100 and 1000

In Year 5, we focus on dividing by multiples of ten, one hundred and one thousand. This helps us
to do- more complicated divisions. We use place value counters and hase ten, as well as owr

knowledge of place value to help us. We also use owr knowledge that multiplication is repeated
subtraction to help us.

<} contalns 100 pleces. < contalns 10 pleces.
How many o8  Howmany
“T  100s in 47007 w  10sin 47907
4700 + 100 = 47 4790 + 10 =479
47 hundreds + 1 hundred = 47 479 tens + 1 ten = 479

Formal method

We start using the formal method for dividing 3-digit and 4-digit numhers. This is sometimes
called the “bus stop’ method. We use a long division method, as this helps us to understand
what we are doing and why. It also means we don't need to hold as much information in our
heads. We use place value counters and part-whole models to help us  understand then formal
method. We also use this method when working with numhers which will give a remainder.

OB ©
930 3)J 9 3 o
/ N\ -9 0 0 | 10
000
QPP w©
10
950 3 9 3 0 !
N CLes e ;
900 30 3 0 ;10
- 3 0 ;
0 |10 |
930 3 10
/" \ 3 9 3 0
e - 9 0 0 —>» 300
3 0
l l - 3 0 — 10
0

300 10
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Year 6 - Place Value

Recognising numhers and amounts

We continue using hase ten, place value charts, place value counters, part-whole models and
arrow cards to help us partition numhbers. We now look at numhers up to 10 million. We will

practice counting in 10,000s.

Show 5 472 737 on a place-value chart.

m hundred
MEHENS thousands
®
®
L ]
®

P 7(2(7|3

5000000
400000

2000

30

10 one hundred thousands make 1 million.
100 ten thousands make 1 million.




Year 6 - Addition and Subtraction

We do not use any new methods for addition and subtraction in Year 6. We now apply the
methods we have leamnt to help us solve more complex problems with larger numbers. We aim to

use the column methods generally, as these are usually the most efficient methods, but other
methods may suit certain questions hetter.

1 9 1011
o o

33 280 5o T23
+ 178 000

111 280 2 4609

We will practice using these methods with different units of measurement and with decimals.



Year 6 - Multiplication

Multiples of 10, 100 and 1000

In Year 6, we recap multiplying by multiples of 10, 100 and 1000. This helps us to answer and
understand more complex multiplications. We use different strategies to help us , breaking up
numbers in different ways. It is important that we understand how numbers can he built up

using multiplication.

1414 =10 = 14 140

1414 =20 = 1414=2 =10
141 = 220 = 14 140 = 2 = 2828 =10
= 28 280 = 28 280
Place value counters

We use place value counters to help us understand what happens when we multiply a decimal by
a whole numher. We can partition the decimal or use our place value knowledge to help us. We

Qs x3s 01 01 | 001001 001 12x8= 101 01,
L - § o )
Method 1 ‘9 ' !
02x3 =06 1ol OOV /\ N E‘ij
0.03=3=009 | !
01 01| 001001 001 1 0.2 101101
R N N 1 g —
0.23=3=06+0.09=069 - T
101101
S W N
Method 2 L :
0.23 =23 hundredths 12x8=8+16 101101
1 1
0.23 % 3 = 23 hundredths x 3 ~96 —
= 69 hundredths :E/:Pj
=0.69 1 1
1017101
g g
I
101101,
N




Column method

In Year 6, we use place value counters when recapping using the column method for

multiplication. We start by hreaking down the calculation into steps, multiplying by a 2-digit

numhber. This helps us to see how we can use our skills in multiplying by multiples of 10 to help

114 11 4 11 4

x 20 x 4 x 24

2280 456 T 2 28 0—114%20
+ &5 B—>1lkxh
T 2736

We then again move on to a more efficient method, of writing the products. We might need to
rename numhbers when writing the answers. We do this by writing the renamed digit above the
correct column.

11 i1 1

2 3 2 3 2 3

5 6 8 5 6 8 56 8

X & x 2 4 L 2 4
ﬁ

2 27 2 2 27 2 2 27 2

11360 +11 & 0

1569 2

We also use the column method to multiply decimals. At first, we use our place value knowledge

to help with this.
1.2 x 8 =12 tenths x 8 . i} 1 §
=96 tenths 1.2 =12 tenths 5 &
=96

Then we move on to a more efficient method. We apply what we have learnt so that we are still
thinking ahout the size of the numhber and our place value knowledge to check that the decimal



Year 6 - Division

Bar models

We use har models to help us picture division in different ways. If we find dividing by a 2-digit
numbher tricky, this helps us to see how we can break down the calculation into small steps.

360 +12 =

!

J l J divided by 4

i i i
30:30:30539 30530:30:30 30:30539:30

divided by 3

Place value counters

We use place value counters to help us understand what happens when we divide a decimal by a
whole numher. We can partition the decimal or use our place value knowledge to help us. We also

00 vu | &8 s3

00 wo &

00 2o = Otnthss3
8
01 3 hundredths = 3
—

00 vue @& |-

00 vuw & |-+ 4
101 01 2.31

00 uuw & 4

Ix231=6.93

693 +3=231

Formal method

We continue using the formal method for dividing 3-digit and, 4-digit numhbers. We now divide by
2-digit numhers. We use place value counters and part-whole models to help us understand
then formal method. Our place value knowledge is also important as it helps us check that our
answer is the right size. We also use this method when working with numhers which will give a
remainder.

30

360 = 36 tens 12 m

6
- 36
0

I6tens =12 =3 tens

360 +12=30



When dividing larger numhers, we will start by looking at sharing out “chunks’ of the number,
then seeing how many “chunks’ we have shared in total. We will then move to- a more efficient
method where we always find the greatest amount which can he shared equally for each digit in
twm.

| 7192 +31 = | 232
2 32 4 32
3 7189 2 1) 7109 2
- 3100 100 = 6 2 0 0=—>5200+31=200
4 09 2 99 2
- 3100 100 -9 3 0—>930:31=30
9 92 6 2
- 310 10 -6 2—62:31=2
6 8 2 0
310 10
37 2
- 310 10
6 2
-6 2 2
0

We also use this method to divide decimals, or to divide a whole numhber with a decimal answer.
We again use place value counters to help us.

920+ 4=

00000 ¢
“ 0000 | ere

20 [OOOO|ez0s gz
7\, 0000 YOO - Loz o
ones tenths @@@@@ S

00 o101@ 2. 30
00 fo:Jo:Jo1) /3. 20
00 01Jo:Jo1] 12
00 o1Jo1Jo1 0




